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Multiplication (Vertical) Name:

Solve each problem. Answers
1y 4592 2 3,760 3 3,810 4 6,484 X
X 98 52 99 X 16 '
2.
3.
4.
5 2714 6) 5249 7 7,209 9 2.425 i
X 40 29 46 X 49 '
6.
7.
8.
9 5354 10 1,978 1) 5,700 12) 4,717 |
X 86 90 60 X 78 '
10.
11.
12.
13) 9422 14 9.643 1 2327 16 3,934 |
X 32 88 74 X 88 '
14,
15.
16.
17) 4516 19 3,867 19 3,287 20 5144 |
X 12 77 95 X 55 '
18.
19.
20.

1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
2) 3 4)
4,592 3,760 3,810 6,484 . 450016
X 08 X 52 X 99 X 16
36,736 7.520 34,290 38,904 » 195520
+ 413,280 + 188,000 + 342,900 + 64,840
450,016 195,520 377,190 103,744 s 377,190
4 103,744
6) 7) 8)
2.714 5,249 7,209 2.425 . 108560
x 40 X 29 X 46 x 49
108,560 47.241 43,254 21,825 6. 152221
+ 104,980 + 288,360 +97,000
152,221 331.614 118,825 7. 331,614
8 118,825
10) 11) 12)
5 354 1,978 5,700 4717 . 460444
X 86 X 90 X 60 X 78
32.124 178,020 342.000 37,736 |10 178,020
+ 428,320 + 330,190
460,444 367,926 |1 _ 342,000
12 367,926
14 15 16
9.422 ) 9.643 ) 2.327 ) 3,934 | 301,504
X 32 X 88 X 74 X 88
18,844 77.144 9.308 31,472 .. 848,584
+ 282,660 + 771,440 + 162,890 + 314,720
301.504 848.584 172.198 346,192 |15 172,198
6 346,192
18 19 20
4,516 ) 3,867 ) 3,287 ) 5144 || 54190
X 12 X 77 X 95 X 55
9,032 27.069 16,435 25,720 |5 297,759
+ 45,160 + 270,690 + 295,830 + 257,200
54.192 297.759 312.265 282.920 | 19312265
o0 282,920
1-10 195(90(85|80| 7570|6560 |55 |50
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